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76- English:--=----cmcemmm e
Nothing grows on the moon so there isno ............................ life there.
1) plan 2) plane 3) plant 4) plate
77- Peopleare .........c.eeeee. not to smoke on the bus .

1) Kept 2) requested 3) found 4) picked



78-

79-

80-

81-

82-

83-

84-

85-

86-

I didn't let my little brother watch TV last night because he

in his exam the day before.

1) makes

2) has made

3) had made

" Are these our brother's shoes 7" Yes, they are ..............

1) theirs

At night, the light bulbs made the city

1) glowed

Charles Dickens knew that little children didn t enjoy

1) working

The writer .......

2) ours

2) glows

2) work

William Shakespeare .

3) yours

3) to glow

3) to work

................ a lot of mistakes

4) would made

4) his

4) glow

................ very hard .

4) worked

works are always admired by people all over the world is

1) who 2) whom 3) which 4) whose
Would you mind not ............... the radio so loud? I am trying to sleep.

1) play 2) playing 3) to play 4) to playing
Ifyou .coooeeiiiiiiiiiiinns trying , you will soon learn to speak English .

1) had been 2) were 3) have to 4) keep on
Had she decided ............... a new dress ?

1) had bought 2) bought 3) buying 4) to buy
Which word has a different vowel sound ?

1) fear 2) fare 3) fair 4) chair



87- Read he following passage then answer the questions .

88-

89-

Betty is a student who is not interested in studying. She prefers to enjoy herself .So
when she took her exams, she didn't get good marks. She sent a message to her brother
because she was sure her father would be angry with her if he knew this. She asked her
brother Ben to prepare her father for the bad news. A few minutes later , she received the
following answer : " Father is prepared , you'd better prepare yourself."

In line three , the word "he" refers to ...................

1) Betty's brother 2) the school teacher
3) Betty's father 4) Ben

What is going to happen to Betty?

Maybe her father is going to ...

1) answer her message 2) visit her brother
3) punish her 4) give her a present
She knew that her father would ..............

1) be interested 2) be happy 3) receive 4) get angry

She wanted her brotherto ...................

1) take an exam 2) prepare their father for the bad news
3) have a good time 4) prepare himself for the punishment



